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SUBJECT: Mathematics YEAR LEVEL :7
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READ THESE INSTRUCTIONS FIRST

All your answers and working are to be written on the examination paper.
Calculators are permitted.

Show all your working.

Answer all questions.

The number of marks is given in [ ] at the end of each question or part question.

Section Total Mark
Semester 1 40

2D Geometry 10
Probability 10
Statistics 157 i3
Measurement 15
Time 15

3D Geometry 10
Transformations 10
Problem Solving 15
TOTAL 140

This document consists of 22 printed pages
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Semester One

a) Starting at the point (5,5) draw a line 3 units long to the East of the point, then another
line 5 units long heading North and a line 3 units to the West and then 5 units heading

South . (1]
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b) Give the coordinates of each of the vertices of the shape you have drawn. /

(ﬁ}ﬂ ,C’ﬁ:ﬂ/, (91@\/,/‘67(0) 8

c) Ifeach unit on the grid represents 3 metres, what are the dimensions of the shape you

have drawn? / /
D 3 (St -
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2. Below is a drawing of a part of the track of a roller coaster ride.
a) Draw the locus of a carriage 6m above the track.

Scale : Imm represents 3m

b} Using the scale given in the drawing calculate how long the ride is?/

c)

b+ 2B 20 £20 +22 FHLAwmn % 2 e

gl x 2 = ¥

H2rq — 4y ! 2

Accurately draw an extra section of the roller coaster ride at the end marked A that
represents 90 metres using the scale given in the diagram.
Show how you calculated the length of the line you need to draw in.

0?05«« - = ZDwmun v

/&La e AVl CLE Qw*»fﬁ/%ﬁ% =

T \/

(2]

3. Joanne was born in January 1985 and is 19 years old. How old will she be in December 20137

5612~ 194C =

2&; [1]
4. Using the number 38624 give the:
¢
a) place value ofthe 6 (00 f1]
£

b} value of the 8 ¢ oo [1]
¢} round the number to the nearest hundred 5 #6060 [1]

d) write the number in expanded form.
AX 10600 4 L3 1800 <+ by tgo b w0 HLL "
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5. a) Find the sum of 3 and 5.

s (1]

b) Give the product of 6 and 8.

‘4 a

6. Calculate the following

a) 9+15 X3,=
©y
b 2 x(11-2)+3=
g
é (1]
7. a) From the list of numbers given below place each number in the correct box. i3]
6, 23, 4, 7, 15, 60,
Prime Numbers Factors of 24 Multiples of 5 e% Qﬁié"

23 . (5 4o

b) Give a number thatis not in the list that would fit into both the Prime Number and
Factors of 24 boxes.

2 3

e

¢) Give 2 composite numbers from the list above in a).
b VM 18 50 (1]
arg 2 3 weh

Codilan,.
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10.

In a class of 24 students -Ewear glasses.

a) How many students wear glasses in the class?

2

[1]
b) [fthere are 18 boys in the class, give the fraction of girls in the class.
{(Give your answer in simplest terms.) /
Girly = Qep=1p = ¢
G I
R 2 2]

¢} A quarter of the class picked Justin Bieber as their favourite singer and g of the class

picked Taylor Swift, rest said they didn’t have a favourite singer.
How many had no favourite?

4
Lo> bshdets STQLAY |

T - ¢ Shhdont v
5 = S 3 o

What is the lowest common muitiple of 2, 3 and 8 (shgw working).

2 \w«f
20 360 15, 1925 v
59 . ‘?_? 54‘12’ ol -

- (7{; (2]

The height of a basketball hoop from the floor is 3.05 metres. The top of Albert’s head is
0.562 metres below the hoop.

a) How tallis Albert? (full working must be shown) L«;,
N P :
6e o3 0 el e =0 T el
- o 4 5’6 F?” 4 d . wﬁ;ﬁ@’iﬁ: B

b, oo
PR o w/
b} if Albert is twice as tall as his younger sister Bethany, how tall is Bethany?
{full working must be shown)

?' i ?@‘i‘gy@ Mﬂ‘\i@?iﬁw

lm 5

jroww
‘ (1]
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¢} Inthe number 3.05, what is the place value and value of the 57

Place value !"L‘Wlff@ﬂi@ v’ [1]
-

5 o
Value  Tow & @-as (1]

11.a) Find 22% of 550.
§go = 100 XL = 21, [1]

b} If Janet scored 28 out of 40 in a test, what would her percentage be?
24 (O
ﬁg@
LA [1]

¢) Complete the table below: [2]

Fraction Decimal Percentage
(simplest form)

- 0625 62.5)

&
e 0.32 32 2

¥y
/FAVMW PONTSY. = éﬁ Fgm gﬁa e,
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2D Geometry

12.
A kgmmwlmmﬁ?
A K
F K
,:."?2! E
3
.;f"i' iir
ié! E!V
|§r X !i
e i
24 o anl,
a) Name the shape shown. SR A é‘*’"’“‘ [1]

B) Use 3 point notation to name the angle marked x in the figure

ADC o CD A [1]

c) Name one pair of parallel lines. }i@} ke o 7‘%’/2 i bc (1]

A [ s
d) Measure an obtuse angle in the figure / ?6 £/ {1j

13.Complete the following sentences:

a) A reflex angle is between /PO © and &6o ’ degrees. [1]
b} A polygon with eight sides of equal length and eight equal angles

is called a V“jwﬂ@/ ﬁtf‘oﬁ’&m é W(i\ ) (1]
c} JC?DS celes triangles have two equal sides. (1]
d) If the radius of a circle is 3cm the diameter is @ cm 1]

14.Accurately draw a reflex angle and show the number of degrees.

v
b vellee o o
/f/ M#”:;ﬁ%féc ﬁ%’w’ ngﬁf” 72 plepHoch.

(2]
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Probability

15. Jake has a bag of iollies containing 5 yellow, 6 brown and 4 red lollies.

a) Whatis the probability of picking a red lolly?

s

b} Jake ate a yellow lolly and a brown lolly.
What is the probability of picking a brown one next?

5

a—————

S [1]

16. John has 3 different coloured shirts, white, blue and green. His trousers are either black
or blue and his shoes black or brown.

a) Draw a clearly labelled tree diagram to show the possible combinations of colours
John could wear if he had to cﬁqose one shirt, one pair of trousers and a pair of

shoes. gl <&( (3]

. B B
\7 Gr/ g
#\\ g
P
y\x B
b) Carefully list all the different combinations that John could wear. (2]
¢ é@ﬁéw{'@«; Fopdod = Qo masle .
V)
e v = 2 maddes
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17.The spinner shown is made from a regular hexagon.

a} Whatis the probability of getting a 3 on the spinner?

b} Give the probability of getting a 2.

18.A survey of cars showed that 85% were made in Japan. Ina c‘ity where there are
200,000 cars, estimate how many would be made in Japan.

170 po
oo o
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Statistics
19. Below is a set of test results from a class of 20 students.

1824111617153021101217142319182829242014

a) Draw astem and leaf graph of the test results i3]

i v A
LRl T AT g wes6TTERT

2 M A o |2 4 &

2

50 319

§ @ SO bt N
7 e |
leowit, wm Agc%cfimi oveless

b) Calculate the mean test mark for this class. (full working must be shown) jﬂ(
3¢0
20
(9
(2]

¢} The teacher has grouped the scores into the tally table below. The three groups have been
done for you. Complete the Tally and Frequency table. [2]

Test Scores by Group

Test Scores Tally Frequency
0-5
6-10 J !
11-15 A RRN 5
16-20 HH 7
21-25 P Lt
26-30 1l 3

; eding
'f; Vinoith ¢
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d) Draw a strip graph of the Frequency data from the table in part {c).

Make sure to show the scale you are using for your strip graph. (2]
of [FI5 k=20 20-2S | %73o
i
fean = 2~
9 7 b3

e) Using the information from the ‘Test Scores by Group’ table above estimate how many

students out of 300 would get a score between 16-20 [2].
P
o0 _ |3
oA

g X 7 = lo$

Pie Chart of Countries

20. Here is a pie chart showing the
different countries the 300 passengers
on an aeroplane came from.

. . . ) Us 20%
Using this information from the pie

chart calculate how many passengers
came from France? Austraia 8%
{show full working)

France 16%

200 % 0lb

-
T

Germany 32%
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ﬁb@'é}ﬁaﬁ@»yu ‘uf%lﬁ .
nA
Measurement
21. a) Measure the rectangle below in millimetres and write in the length and width in the spaces
provided. (2]

Length g@g Lt

Width 29

NP

b) Calculate the area of the rectangle.

2 X Fo = "
2249 — 2573 mm

2]

¢} Calculate the perimeter of the rectangle.

220 = 20 mm.

22. Inthe stairs shown below, all of the lengths marked are 9cm.

e 9cm
26 C i
a) Calculate the perimeter of the stairs-shown.
g
Yorx v = Ju i

!%‘{{5’ Cinm 2]

b) Calculate the area of the shape.

fo X &1

P10 tinn

s
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23.

dem
5cm
a) Calculate the volume of the box. /
TE3%S

3cm

b} Give the capacity of the box.

24. Complete the conversions in the table below.

2.5km DEED m
6500g L5 g
10.35m ] 035— om
0’ Ko m
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25. Complete the following times. (2]
12 hour time 24 hour time
5:10 am S5l
Y Spn 1643
12:02 am 000
1205 an~ 0005

26. John started a marathon race at 0933 and crossed the finish line at 1316.
a} How long did he take to complete the race? Give your answer in hours and minutes.

i e
13 00 2 TS
‘ fé By £ e
{§LQ> v v’

g hrs ;%?3 mins {2]

b) After the race it took John 7500 seconds to get home.
What time did he arrive home? Give your answer in 12 hour time.

7500+ bo = 12 Smne

,l(':t b = Q‘Jivv & nyn

276 = Sl pua v v

12 7 S -2 pm 2

27. a) How many days are there from November 19" 2010 to February 15" 2011 including these
two days.

A VAR VA

v’
73 2]

b} How many years are there in 208 weeks? (show full working).

2o¢—gaV ¢ 2

Page 14 of 22




28. Below is a timetable for the airport bus in Wellington.

Hutt Hespitsl - Higly Strest

ey =SS Dmem Tomps 2 5
Bt al CETEADTE 2 T

=%

e . AR 50 5.4 E T
Lower Hutt - Gueensgate, Stop B 2 ol 7B &30 B 83
Srmp It TS fors Ferzs o o faiy pdai om o fakrad
e d wab L R
. TaF T ToaE - oonE 0. 895
Petone - Jackson Street. Police FADTEY TIR VIR BRE @30 407
St'_'—"”“_“"“‘“‘t, =y o am om cm o am
stion
Stom =RI0E Fep Zore 4
H N T TnE TLEA SoenE ety X DEn
Wellington Station - Stop € “1  TEEOTmED 30T RER BRE oD
Stop: =IE0J Fars Torz B e e £ B i jaiid
R o .20 -.F [ IRT.Y Ty s o.F!
Courtenay Place - Blsir Street F2g TAd TEE B2 BB Si4r 0 548
Fmen SRS Tore = - o oo wm o o m m
Brap w2808 Frez Frra
. * " . s = k. (=P 1 o] o poel) 3,
Hataitai Village {near 38} 733 4% &2 B mIZ os=B T3
Btem: =377 Farm Zarm o o = o arm o om e
i 727 TEZ BAT 53T 83T TES SoT
Killirpie Shops - Bay Road 727 TEZ B3 822 2T TEER O 8d7
Srop: =7204 Fars Tams 0% em tdas am oo o om T
= bewt PR ratm LuhE L5
Vellingten Airpert TaE 200 3B S28 BDD 0 BAT
Ginp WTIEE Dare fers: 3 s o o o Lot o
IR Y LuY FEE LIrE 8 ’

a) How long does the bus take to go from Hutt Hospital to the Kilbirnie Shops?

é ~
7{ 7“”’\? [1]

b) If you were catching a 9pm flight and needed to arrive at the airport at least 35 minutes
before the flight, what is the latest bus you could catch from Petone?

Pl gerviue %{w& Fas prn.

7 3({)’}%

[2]

29. The blades on a large water wheel turn as it is driven by the water flowing through a river. The
wheel takes 2 minutes and 10 seconds to turn once. How many complete turns will it make in
24 hours?
o

;Q‘ML’";\ {Q %‘ﬁ-‘&"wg = Im FLL
A hwn = 24X B0 X o T g4t 06
o0 .

L
e

ég o .
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3D Geometry

30. a) Name the shape on the right.

|3

% 3

L ﬁv’}é@&;;’% W S [1]
7 i

b) How many faces does the shape have?
% (1]

31. Name the Polyhedra that each of the nets below makes.
Write the name in the space below each one. [2]

< b
*\/( i PR 3 i DA
a) C\)ﬁ&i wh pod i Frp b) {}’Q"{\;rg\‘{{\{gﬁw By v O
= T i 3 VT

~ LA

32. Draw an oblique projection and an isometric projection of the shape shown in the plan below.
Label which is the Isometric and which is the oblique in the space given above each picture. [4]

top

left et

front back
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33. Using the figure shown on the right,

a)

b)

Name one face

Name one edge.

Page 17 of 22
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Transformations
34. a) Enlarge the figure by scale factor of 2.

(2]
™
\\
/’/
b) Reflect the trapezium below in the mirror line M [2]

ofenbelive Gopgrak V0
TS‘S‘@‘{"CW e El\f\: A TN v

rd
rd
Ve
rd
P g
12 7
y; .
7
J " / U e A S

c) Onthe grid above translate the original trapezium 5 right and 2 up. Label the translated
figure T. Gvinat el o, V7 [2]
%;z,;gg}f A
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35. a) Rotate the parallelogram on the grid 90° clockwise using the centre marked O and label the
new figure 90. (1]

b) Rotate the original parallelogram 270°clockwise using the centre marked O.
Label the new parallelogram 270. [1]

-~
i
)

1

36. a) Draw in the lines of symmetry for figgre given below.% i1]

b) How many times would the figure map onto itse\hxqrough a 360° rotation?
é’}

/ G{J f1)
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Problem Solving
37. On the planet ZXY they have two different species of toad, one has 5 horns and the other
species has 2 horns. Both species of toad have 3 legs. Jonny keeps some of the toads as pets.
His mother let them escape while cleaning his room. She was not sure how many toads he had
but knew that once she had counted 64 horns and 51 legs altogether on the toads.

v v
5 horn /o 3 horn Vi (4]
R P
5{ ““}i T = hmﬁmw Lot 15 ‘? ”ﬁﬁﬁg
Y

;\g ,f 7 b »i
s (H) ot (4) Toklug

How many of each species of toad did Jonny have?

F————

m 2{?” ( /@9\} Z?IF ""* v s w«z;\"%}ﬂ

/o \ ‘fﬂ% 7/ {{@)l

L5
.
sk
T
£
}m».
p
-~
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38. lack, Fred and Allan went to get some food and drink after the movies. The menu had a choice
of 3 meals: hamburger, chicken nuggets, and fish. There were also 3 milkshake flavours to
choose from for a drink: strawberry, chocolate and vanilla. Each person chose a different meal
and a different milkshake.

From the information given work out what each person had for their meal and drink.

Jack is allergic to chicken and chocolate but loves hamburger and strawberries. Allan can’t eat
any seafood. Fred’s favourite flavour is vanilla. [6]

§ '
Jack’s meal } %ﬁ%% Loy L drink -S— "{\’éw) b Enin ™

%

Frec’s meal A ¢ drink Vol |2
wrl R BT
Allan’s meal 8 1t da. drink chwed alz
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39. Mr Phil T Rich died and left half of his money to his wife, $30000 to his daughter, half of what
was left to his dog and half of the remainder to his goldfish, and the remaining $8000 to charity.

How much did his wife, dog and goldfish each get? (5]
Wife j{ e L
R
Dog S (b v
w;{c’
Goldfish D Lo
" é . %—’fé&.«
FooPovo w2 = lbovs Ve -~ ,.hbr '
I J6std ¥ 22 000 v e

The End
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